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& The xmo in brief, and various difficulties

The 'ma asks: If one rented a house on 7071 777, who must perform the mp™a? Is it the ~own’s
obligation — being that the ynn is his [7xy7 711 X7, or is it the 1ow’s obligation — being that
the ynn is in his domain [Xp mmwna xmoex7]? The 'ma suggests that this 11 may be inferred from
the 11 of inm; since affixing the rmm is the responsibility of the 73w, it follows that mpr1a is also
the responsibility of the 13w. The 'na ultimately concludes that no proof can be inferred from the
case of mm, being that mmm is > nan~ (the obligation of the dweller).

The questions on this x»10 abound®:

a) The omwxn explained on x”y 'a g7 that the o'man instituted ynan np™1a in order to address a
specific concern. According to »w~, the om>n required ynn np™1a in order to prevent one
from transgressing x¥n' 511 fix7* 52 in the event that his 5w was deficient. According to
‘01N, the 0> required ynn np»1a so that one should not encounter ynn and inadvertently
eat it. Accordingly, the answer to the 'nx’s question should be simple; according to »wn, the
obligation of mp™a should rest with the one who is liable to transgress xym» 521 x7r 53,
whereas according to 'oin, the obligation of mp™1a should rest with the one who is most
likely to encounter the ynn and inadvertently eat it! If so, what is the 'n’s query?

b) Why does the x7n3 mention that the rental occurred on 102 777? What difference does it
make whether the rental occurred on 1021 71, or prior?

c) It is difficult to understand how the mi even suggests that there is a connection between
rmm and ynn. For, with regards to ynn npra, there are “two sides to the coin”; there is
reason to obligate the 1™wn — for the ynn is his, and there is reason to obligate the ">w —
for the ynn is within his domain. With regards to rmm however, there only seems to be “one
side to the coin” (figuratively speaking); there only seems to be a reason to obligate the ">w
— for the house is in his possession. However, there does not appear to be any reason for

! Aside from all the listed questions, there is another matter which must be considered. The 'nx does not discuss who
transgresses x¥n» 521 1k 53, and who must therefore perform 5wm; the 27awn or the 131w It seems that the 'na considered
the answer to be obvious, and therefore didn’t (explicitly) shed light on this issue. As a result, the ownan and opo
debate this issue, siding with just about every possible position; the nin and s explain (according to »wn) that both are
12vy; the 17 and 117 111 hold that neither are n121; yan 11man and the 57wnim hold that the 93own is 2a1y; whereas the x7n
holds that the 9w is 12w. In a sense, this fundamental issue is the undercurrent of the entire xv; one’s position on this
matter affects how one explains the flow of the x=no.

In some of this myw’s footnotes, (namely, footnotes 2, 3, 4, 6 and 77) we will focus on this issue, at length. The reader may
prefer to read and master the =yw without focusing on these footnotes, and then, to review it again with these footnotes.
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obligating the 7">wn! If so, how could the 'ni even have attempted to infer the 11 of np12
ynn from the 11 of mm?

There are a great number of approaches to explaining this x»10. We will focus on one possible
explanation of w1 nvw, and the two approaches of 'o1n. These approaches diverge at just about
every step of the way.

& Answer to Question a: Explanation of the 'ny’s query
& w1 nvw — based on the o»n nn?

»wn provides enough information to exclude most of the interpretations of the other omwxn.
However, there does not seem to be enough information in »v~ to pinpoint what exactly he holds.
There are several compatible explanations, and we will focus on the explanation of the o»rn nmn.

As mentioned above, v is of the opinion that the om>an required ynn np 2 in order to prevent
one from transgressing xym» 531 rix 51 in the event that his 5w was deficient. In the case of
Town and the 1w, the obvious question is who exactly transgresses xyn 521 fix17 52? The nn
o asserts that without 51v7a, both the 1mwn and the 10w transgress xyn» 531 fixar 2. The own
transgresses because the ynn is his®, and the "> w transgresses because the ynn is in his domain*.

2 See S"wnrm and v pro 5N o x7an for different explanations of »w.

® Question: The fact that the 1»>wn left his ynn in the rented house, knowing full well that it might be consumed, would
appear to be the greatest form of 5. If so, why does he transgress xvn? 521 ixa 5a?

Answer: On 27y 1 1, we will learn about a fundamental debate regarding the mechanics of 5wa. Most omwxn hold that
D is a form of poi (see footnote 6 for further details); accordingly, it is valid to ask why the =1mwn’s disregard for his
ynn isn’t an effective 5wm! According to »wn however, 5 is something else entirely; 1wm is not about the owner
relinquishing ownership, but rather, about viewing the ynn as inherently insignificant — like the dust of the earth. In
our case, the 7"own has not declared the ynn itself to be inherently insignificant, and therefore, it is certainly not Sva.

Further question: It is true that the ="own’s disregard for his ynn is not an acceptable form of 5wra! Yet, he should still be
absolved from x¥n 521 ik 53, being that the ynn is apon! If so, why does he transgress xymn 521 rixa 52?

Answer: First of all, since »wn holds that 5w is not 1pon, there is no clear proof that he absolves one from 521 x5
xyn for ynn that he declared por. [See 17amn on a7y 1 o7 and »an on a7y 11 o71.] Secondly, even if »w~ holds that one is
absolved from xyn» 531 fixr 5a for ynn that he declared 1pom, nevertheless, an item cannot be considered -por simply
because the owner disregarded his item. Rather, the owner must make a formal declaration. In the absence of a formal
declaration, the ynn still belongs to the 15wn, and he will transgress xyn» 521 ix Sa.

* The omn nmn bases this on the p1oo of “951231 531 ... ynn ... ik X5 (“you shall not see ynn in all your borders”). Indeed,
»wn elsewhere seems to indicate that one transgresses for all ynr in his possession, even if belongs to another 1 x:

a. The 'na on 2y /i1 g7 states »max Swn omnx Sw axM Anx Yax K K ox 5wr — “you may not see your ynm, but you
may see the ynn of “others” and of wpn”. According to most omnwxn, “others” is quite literal; it refers to anyone
aside from oneself. Accordingly, the ' teaches that one does not transgress for someone else’s ynn that is in his
muwn. However, »wn explains that “others” refers to omai. Accordingly, the 'na teaches that one does not transgress
for the ynn of a 151 when it is in his mwn; implying that one does transgress for the ynn of another 7:x when it is in
his mwn.

b. Without going into the context of the 'n1 on 27y vn 17, we see that »wn states 75w 1x 1 ,fxmM X X% 5w 2703 KPY
»1man Sw x5 — “the pion states that you may not see your ynn, but this ynn is not yours, nor is it your friend’s”. With
these words, »wn seems to equate having one’s own ynn with having a friend’s ynn (as opposed to ynn not owned by
a TK).

These proofs are further elaborated upon on a7y 1 1.

According to this explanation of »w~, it emerges that one can — and must — perform 5w for ynn in his possession, even
though he does not even own it! This notion is entirely incompatible with the opinions of most omwxn, who hold that
D is a form of ~pon (see footnote 6 for further details); accordingly, it is completely contradictory to say that one can
nullify ynn that he does not own! If he does not own the ynr, how can he make it 2pnr? According to »wn however, 5w is
something else entirely; % is not about relinquishing ownership, but rather, about viewing the ynn as inherently
insignificant — like the dust of the earth. Thus, it is not contradictory to nullify ynn that one does not own!
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Thus, both the ="awn and the 73w must perform ynmn 5113, for the responsibility of x¥nr 521 fixr 53
rests with both of them. Similarly, if neither of them performed ynn 5w, they both bear equal
responsibility® of performing ynn n77pa, being that xyn» 531 1x7» 53 applies to both of them.

The query of the xnx applies only when w2 was already performed, in which case the mp™a is
required only 1323711. Although the concern for which the p»1a was instituted (that one’s 1w may
be deficient) applies to both the 7">wn and the 7o, nevertheless, it stands to reason that the oman
didn’t inconvenience both the =»swn and the @>w with the task of r1p»1a. Thus, the query; did the
om>n obligate the ">wn, being that the ynn is his, and he is liable to transgress xyn» 531 ik 51 in
the event that his 5w was deficient? [This is the meaning of “x71 71711 Xmmr17; since it is his ynan,
he is liable to transgress xy¥n 521 1x77 52 in the event that his 5172 was deficient.] Or, did the omb>n
obligate the ">, being that the ynn is in his domain, and he also stands to transgress 521 rx7 52
xyn in the event that his 51w was deficient? [This is the meaning of »xp mmw-a xMoxT7; since it
is in his domain, he is liable to transgress x¥n* 511 177 51 in the event that his 51w was deficient.]

It should be noted that, according to this explanation, the underlying logic of whether to obligate
the 7"own and the 10w is essentially the same; they both stand to transgress xyn 521 fix77 52 in

the event that their 51071 was deficient! Since exactly the same concern applies to both, the xna
is uncertain as to who is charged with the task of r1p™1a!

& First approach of 'oin

As mentioned above, 'oin is of the opinion that ynn np»ma is required so that one should not
encounter ynn and inadvertently eat it. If so, it would appear that the 211 of mp»1a should certainly
rest with the 73w, for he is the one who is most likely to encounter the ynr and eat it! Indeed, we
see that 'v1n does not deem it necessary to explain why one would think that the avn of mp™1a rests
with the ">w. Instead, all of 'oi1n’s energies — in both of their explanations — are focused on
explaining why one might think that the a1 of mp™1a rests with the 7"own, even though he is far
less likely to encounter the ynrn and inadvertently eat it!

In their first approach, 'oin states that only the 1™wn is able to be Svan the ynn that he left behinde,
and not the 7>w’. Since the awn is required to perform 5173, this might be sufficient reason to
obligate him with the ripa as well!

® Of course, it is unnecessary for both of them to perform the actual mp»13, for, in practice, mp™a requires only one
person. Nevertheless, the responsibility of mp™1a rests with both. [A similar example: If several people spot a rixwn at
the same time, they all have a responsibility to perform rmax nawn. Practically speaking though, this responsibility will
be fulfilled by the one who gets to it first.]

¢ According to this first approach of ‘oin, who transgresses xyn» 521 ix 52 — the 1mwn or the 13w? Two possibilities:

a. If we align the position of ‘oin with that of ynn 1, it seems that the 27own alone transgresses xynr 521 fixar 53, and
that is why only he can perform %wmn. Yet, this requires explanation: The fact that the 1»>wn left the ynn in the rented
house, knowing full well that it might be consumed, would appear to be the greatest form of >wra! If so, why does
the 7mwn transgress xyn a1 ik 5a?

A possible answer: According to those ommwxn who hold that 5w is apan, there is some debate as to whether 5w is
basically identical to the standard form of =por1 — which requires a formal declaration, or whether it is a lesser form
of apnrt for which mere intent is sufficient. [The rationale of this debate is explained on a7y 1 n1.] Accordingly, 'oin
might be of the opinion (as implied by a simple reading of their words on 2y 1 y7) that % is identical to the
standard form of 2por, and a formal declaration is therefore required. In the absence of a formal declaration, the
ynn still belongs to the own, and he will transgress xymn» 521 i 5a.

b. From the words of the Alter Rebbe (in '3 mix x7p 1on ), it appears that the intent of ‘oin might be different. It may
very well be that 'oin regards %1wn as a lesser form of pnr, and mere intent is sufficient. Therefore, by showing
disregard for his ynn and leaving it behind, the =m>wn has effectively been ="pon his ynn, and he no longer
transgresses xymr 521 ikt 52, Nevertheless, the omon instituted that 51w 2 must be verbalized (as the Alter Rebbe
rules in ‘1 o 1750 o), and the 27awn must therefore perform % in order to discharge this 13377 avm.
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This explanation of ‘o0 requires explanation: What is the connection between 1w and mp™a? In
fact, 'omn are the ones who emphasized (on x”y 'a n7) that % and mp»1a address two distinct
issues; 7wm addresses the issue of xyn» 521 rix 53, whereas mp™a (when performed after 710m) is
a om>n nipn designed to prevent one from encountering and inadvertently eating ynn! Since these
are two essentially different issues, what is the reason to link the two?

The answer to this question may gleaned from the Alter Rebbe’s 77y (in 'a mx x”1p ”5n 7o 071K):
The %1 (based on x”y 1 71 »wn) is that one must perform 5w immediately after mp»13, (even
though the appropriate time for 1w would seem to be at the time of mym,) lest one forget to
perform %1 later. [I.e. 51w is a short verbal declaration, and one might overlook it. Conversely,
mp™1a is a lengthy and involved process, and it is unlikely that one will forget about it. Therefore,
the om>on required %1072 to be performed immediately after mp»13, so that the mp1a will serve as a
reminder to perform 1. ]

Now, we know that a nm>an mapn involves two aspects:

"1pan 5" — Why they made the mpn.

~1pn K" — How they made the mpn.
To apply this to our case, the onan’s reason to institute mp™1a was in order to prevent one from
encountering and inadvertently eating ynn on nmon. With regards to the actual mpn, the oman
required 51m to be performed immediately after mipra.

Accordingly, the 'nx’s question is: When the "11p'n 5%~ and the "ap™n 7°x” conflict, which one is the
decisive factor? Does the "1p™n 7'x” dictates that the p»a is the 1»>wn’s responsibility, as he is the
only one who can perform 1a? [This is the meaning of “xy1 7771 X175 it is his ynn, and he is
the only one who can perform 5w.] Or, does the "p™n 5~ dictate that the mpra is the ">w’s
responsibility, in order to ensure that he does not encounter any ynn? [This is the meaning of
7Rp TMYIa XMo K75 it is in his domain, and he is therefore the one most likely to encounter the
ynr and inadvertently eat it.]

It should be noted that, according to this explanation, the underlying logic of whether to obligate
the 1mwn and the "> is different; the reason to obligate the 23w is because of the "apn 57,

and the reason to obligate the 7">wn is because of the "1pan qx7.
& Second approach of 'oin

As mentioned above, 'o1n does not need to explain why one would think that the avn of mp™a rests
with the 75w, for he is the one most likely to encounter the ynn and inadvertently eat it! Rather,
‘o1 must explain why one might think that the 2171 of 1p™1a rests with the awn!

In their second approach, 'oin explains that since the rental occurred on o7 77, the avn of mp™a
certainly rested with the 7">wn at the very beginning of jom1 7. [For, at that point in time, both the
house and the ynn belonged completely the 2"own; thus, it is obvious® that the avr of f1p»1a rests
with him.] This leads to the 'ny’s query: Does the initial 21'n1 of the 7">wn remain with him even

" The "mw cannot perform w3, and also does not transgress xyn 521 fix» 53, because the ynn is not his. The reason that
the ynn is not his is either because it still belongs to the =>wn (first approach in footnote 6), or even if the ynn no longer
belongs to the 1mwn (second approach in footnote 6), the 131w does not wish to acquire it!

According to the Alter Rebbe (in '3 nmix x”1p 175n ~0), the final position of ‘'oin may be different; since 'oin ultimately rejects
this approach, they may very well maintain that the 1>w does transgress xyn» 521 ix 53, because that the ynn no longer
belongs to the 1"own, and the "> w automatically acquires it!

® The way that ‘oin explains the xipon of the 'n, this is not always the case. Still, at this point, the 'nx assumes that the
qmown certainly has the arn of pr1a at the beginning of 1, being that both the house and the ynr are in his jurisdiction.
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when there is currently more reason to obligate the 1>w°? Or, is the initial avn of the ~dwn
uprooted when there is currently more reason to obligate the 131w, being that the concern for which
mp1a was instituted (that one may encounter ynn) is currently more applicable to him? [This is the
meaning of "xp mmwa xMoKT; the ynn is in his domain, and the concern for which r1p»1a was
instituted is currently more applicable to him.]

It should be noted that, according to this explanation, the ma is not asking whether there is more
reason to obligate the 7mawn or the ">w with mp13; it is clear that the om>an’s concern for which
mp™1a was instituted was previously (i.e. before the rental occurred) more applicable to the 3w,
and is currently (i.e. after the rental occurred) more applicable to the 13w. Rather, the question of
the 'nma is whether one’s initial 21’1 remains in place even when there is currently more reason to
make someone else responsible.

@ Answer to Question B: The rental occurring on 1071 7

The x7na deliberately mentions that the rental occurred on jo°1 777, implying that only then is there
uncertainty as to who performs np™1a. However, if the rental occurred on jom 1, the 'ma is
convinced that the avn of 1p™1a most certainly rests with the n>w! Why is the 'ma so certain?

It was in order to address this very problem that ‘oin ultimately proposed their second approach.
For, according to this approach, the only reason to think of obligating the 2">wn is because the a1n
of mp™1a rested with him at the very beginning of yom1 777! With regards to a rental which occurred
on 107 3 however, there is no reason whatsoever to obligate the 1nawn, for the a1 of 1p»1a didn’t
ever rest with him! Thus, the 'nx asks only regarding a rental that occurred on o7 777, and not about
a rental that occurred on o7 27!

However, this question still remains problematic according to the opinion of »wn and the first
approach of ‘'o1n; why does the x7na state that the rental occurred on o1 777, to the exclusion of a7
1011? According to these omwxn, the reasons to obligate the 2">wn or the 71> w are entirely unrelated
to the timing of the rental! [For, according to »vm, the 'ny’s doubt regarding who to obligate hinges
on the fact that both the 7"own and the 73w are liable to transgress xyn» 531 %77 52 in the event
that their 510 is deficient. Accordingly, what difference does it make whether the rental occurred
on 707 ¥ or on [om 17? Similarly, according to the first approach of 'oin, the 'ny’s doubt regarding
who to obligate is because the "1p'n 7°x” indicates that the =»swn should perform m1p»13, whereas
the 71pn %~ indicates that the 13w should perform mp1a. Accordingly, what difference does it
make whether the rental occurred on 1071 377 or on Jom 7177?]

Based on the 57, we may answer as follows: When a rental occurs on j07 371, before the time of
mpTT3, it is reasonable to assume that the 13w may have brought his own ynn into the rented
premises. As such, he is certainly obligated to perform rp»13, on account of his own ynn.
Consequently, it is pointless to discuss who must perform r1p11 on account of the =wn’s ynn,
being that the 13w is in any case obligated to perform m1p>12 on account of his own ynn! Conversely,
when the rental occurs on jom 77, after the time of r1p»13, it is safe to assume that the 73w did not
bring his own ynr into the premises, and thus, he is not obligated to perform rp1a on account of

® Tt is difficult to understand how this explanation of ‘oin can be inserted into the words “x¥1 7171 xmm77; according to
‘010, the issue is not about whose ynn it is, but rather, about whether the 2own’s earlier avn was uprooted after the
circumstances change. If so, why does the 'ny mention ”x1 r7171 x7m17? The nnx now answers: Even if we accept that the
qmown’s initial a1vn remains in force after the circumstances change, this is only if his initial a1n to perform mp™a was on
account of his own ynn. However, if his initial avn was solely on account of someone else’s ynn present in his house,
then the avn is certainly uprooted once circumstances change. This is what the words “xy1 11 X117 mean; there is
reason to think that the 1mwn’s a1 is not uprooted, only because his initial 2111 was on account of his own ynn. [See x"sw
for further explanation.]
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his own ynn. Consequently, it is necessary to discuss who must perform mp™1a on account of the
qmwn’s yan. Thus, the 'ma asks only about a rental that occurred on 1071 777, and not about a rental
that occurred on o7 37!

@ Answer to Question C: The suggestion to equate 1p»1a with mmm
R w1 nvnw — based on the omn nmn

This mvw holds that the underlying logic of whether to obligate the =">wn and the "ow is
essentially the same; they both stand to transgress xyn» 531 rix7* 52 in the event that their 507
was deficient! Since the same concern applies to both, the x7na is uncertain as to who should be
charged with the task of mpa!

Accordingly, when suggesting a parallel between r1p»1a with mm, the 'na must have thought that
there is essentially the same reason to obligate both the 7">wn and the >w to affix the mmm! As
the omnnx explain, although a rented house is the 13w’s to use, the actual house belongs to the
amwn. On this basis, the 'na thought that there is essentially the same reason to obligate both the
~mwn and the 1ow; they are both associated with the house! In spite of this, the % is that the
0w must affix the mmm, and the 'na assumed this to be because he is responsible for implementing
all of the m¥n pertaining to the house. The 'nx applied this to rip™1a as well; although there is equal
reason to obligate both the 7"swn and the 13w, nevertheless, the 713w must implement the mpr3,
being that he is responsible for implementing all of the mi¥n pertaining to the house!

The 'na concludes that mmm and ynn cannot be equated, because rinm is “211 nan” (the obligation
of the dweller). According to »wn, this refutation is easily understood; the ny’s suggested parallel
between rmim and pr12 was based solely on the premise that affixing the minm is, in theory, both
the obligation of the 1"3wn and 13w. This is refuted when the 'ma concludes that affixing the rmm is,
even in theory, solely the obligation of the ">w.

a® First approach in 'oin

This mmvw holds that the underlying logic of whether to obligate the =">wn and the "ow is
different; the reason to obligate the 13w is because of the "11p'n %, and the reason to obligate
the ~">wn is because of the "11pan qx7.

With regards to mmm, it would be insufficient for his approach of ‘o1 to explain (as we did for »wn)
that there is essentially the same reason to obligate both the =">wn and the 7>w! For, if this was
true, it would not clarify anything about 1p»13, where the reasons to obligate the 7»3wn or the ">w
are different, and the question is which factor outweighs the other! Therefore, a different
explanation is necessary!

The yawn w~ ‘om0 explains the suggestion of the 'ma as follows: The ma initially assumed that the
7own alone obligated to affix a mmm, for the actual house is his, and the 13w merely uses the house.
Nevertheless, in practice, the 1> w must affix the mm, and the 'na assumed this to be because he
is responsible for implementing all of the miyn pertaining to the house. If so, how much more so
with regards to rip»13; if the 131w must implement any mmyn of the house even when it is definitely
the mown’s obligation (i.e. inm), then he must certainly implement any myn of the house when
there is doubt as to whether is it the 7">wn or the 1o>w’s obligation (i.e. ipr12).

The 'm3 concludes that imm and ynn cannot be equated, because mm is 271 N2~ (the obligation
of the dweller). According to the first approach of 'vin, this refutation is easy to understand; the
'ny’s suggested parallel between rmm and r1p™12 was based solely on the premise that affixing the

Y vin may be unsatisfied with this approach, because even if the rental occurred on jo71 37, perhaps the 15w did not bring
any ynn into the premises, in which case he would have no independent obligation to perform rp™a.
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mmm is, in theory, the obligation of the =™>wn alone. This is refuted when the 'na concludes that
affixing the rmm is, even in theory, solely the obligation of the ~"aw.

& Second approach in 'oin:

This rmv'w holds that the 'na is not asking whether there is more reason to obligate the 7"3wn or the
"o with mpr1a; it is clear that the omon’s concern (that he may encounter and eat the ynn) was
previously (i.e. before the rental occurred) more applicable to the 13w, and is currently (i.e. after
the rental occurred) more applicable to the n>w. Rather, the question of the 'nx is whether one’s
initial 21'n remains in place even when there is currently more reason to obligate someone else.

According to this approach, the 'mi’s suggested parallel between rmm and fp»12 must be
understood as follows: The 'na initially assumed that the one who dwells in the house is obligated to
affix the rimm. Thus, it was clear to the 'na that the requirement to affix the =»own initially rested
with the 1m>wn when he lived there, and it subsequently rested with the n>w after he rented it! The
171 is that the 131w must affix the mmm, which seems to prove that the 7"own’s initial 21 is uprooted
after the circumstances change, and there is currently more reason to obligate the ">w. The ma
infers the same with regards to ynn too; the 7"own’s initial obligation to perform mpr12a is uprooted
after the circumstances change, and there is currently more reason to make the 7> responsible.

The 'n3 concludes that mmm and ynn cannot be equated, because mmm is 271 N2~ (the obligation
of the dweller). According to the second approach of 'oin, this refutation seems difficult to
understand; the 'na knew all along that affixing the mmim is, even in theory, solely the obligation of
the one who lives there. If so, what did the 'nx accomplish by stating that mmm is 211 nan”? This
doesn’t seem to refute the 'ny’s assumption — in fact, it seems to support it?

In order to answer this question, 'o1n redefines what the principle of “271 N2 MM~ means. As
we saw previously, »wn and the first approach of 'oin understood this principle as defining who
must affix the mmm. However, according to the second approach of 'oin, this principle defines
whether one must affix the mmm! In other words, the 'na is pointing out that a house needs a rimm
only when someone lives there, and not when nobody lives there!

Accordingly, the 1m1 of mp™1a cannot be derived from the 17 of mm! For, with regards to mmm, the
Town was not truly bound by his a1n when he lived at his property, for he could have eluded the
avm simply by moving out. Since the 1>wn’s obligation to affix the mirm was not an insurmountable
one, it becomes uprooted when there is currently more reason to obligate the 1>w. Conversely,
with regards to mipr13, the »>wn was truly bound by his arrn when he lived at his property, and he
could not have circumvented it simply by moving out. Since the 7"3wn’s obligation to perform mp»1a
was insurmountable, perhaps it does not become uprooted even when there is currently more
reason to obligate the 1>w.
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